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Get the most from this book



Everyone has to decide his or her own revision strategy, but it is essential to review your work, learn it and test your understanding. This Revision Guide will help you to do that in a planned way, topic by topic. Use this book as the cornerstone of your revision and don’t hesitate to write in it — personalise your notes and check your progress by ticking off each section as you revise.


Tick to track your progress


Use the revision planner on pages iv and v to plan your revision, topic by topic. Tick each box when you have:





•  revised and understood a topic



•  tested yourself



•  practised the exam-style questions





You can also keep track of your revision by ticking off each topic heading in the book. You may find it helpful to add your own notes as you work through each topic.




[image: ]




Features to help you succeed
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Expert tips


Throughout the book there are tips from the experts on how to maximise your chances.
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Definitions and key terms


Clear and concise definitions of the essential key terms from the syllabus are given on the page where they appear. The key terms are highlighted in bold and a glossary is provided at the back of the book.
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Revision activities


The activities will help you to understand each topic in an interactive way.
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Now test yourself


These short, knowledge-based questions provide the first step in testing your learning. Answers are at the back of the book.
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Questions and answers


Use the exam-style questions and answers to consolidate your revision and practise your exam skills.
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Countdown to my exams
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6–8 weeks to go





•  Start by looking at the syllabus — make sure you know exactly what material you need to revise and the style of the examination. Use the revision planner on pages iv and v to familiarise yourself with the topics.



•  Organise your notes, making sure you have covered everything on the syllabus. The revision planner will help you to group your notes into topics.



•  Work out a realistic revision plan that will allow you time for relaxation. Set aside days and times for all the subjects that you need to study, and stick to your timetable.



•  Set yourself sensible targets. Break your revision down into focused sessions of around 40 minutes, divided by breaks. This Revision Guide organises the basic facts into short, memorable sections to make revising easier.
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2–5 weeks to go





•  Read through the relevant sections of this book and refer to the expert tips and key terms. Tick off the topics as you feel confident about them. Highlight those topics you find difficult and look at them again in detail.



•  Test your understanding of each topic by working through the ‘Now test yourself’ questions in the book. Look up the answers at the back of the book.



•  Make a note of any problem areas as you revise, and ask your teacher to go over these in class.



•  Look at past papers. They are one of the best ways to revise and practise your exam skills. Write or prepare planned answers to the exam-style questions provided in this book. Check your answers with your teacher.



•  Use the revision activities to try different revision methods. For example, you can make notes using mind maps, spider diagrams or flash cards.



•  Track your progress using the revision planner and give yourself a reward when you have achieved your target.
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1 week to go





•  Try to fit in at least one more timed practice of an entire past paper and seek feedback from your teacher, comparing your work closely with the mark scheme.



•  Check the revision planner to make sure you haven’t missed out any topics. Brush up on any areas of difficulty by talking them over with a friend or getting help from your teacher.



•  Attend any revision classes put on by your teacher. Remember, he or she is an expert at preparing people for examinations.
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The day before the examination





•  Flick through this Revision Guide for useful reminders, for example the expert tips and key terms.



•  Check the time and place of your examination.



•  Make sure you have everything you need — extra pens and pencils, tissues, a watch, bottled water, sweets.



•  Allow some time to relax and have an early night to ensure you are fresh and alert for the examination.
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1 Basic economic ideas and resource allocation



Scarcity, choice and opportunity cost



Fundamental economic problem and scarcity


Scarcity refers to the fact that at any moment in time, the output that an economy is able to produce will be limited by the resources and technology available. People’s wants and needs, however, will always exceed the resources available to satisfy them — in other words, these wants and needs are unlimited. This is known as the fundamental economic problem.


As a result of this condition of scarcity, choices must be made. In all economies, therefore, there is an inevitability of choice at all levels of decision making — that is, at the level of the individual, the firm and the government.


This focus on choice stresses the need to recognise the implications not only of choosing one thing, but also of not choosing something else. This is known as opportunity cost. An example is using a piece of land for farming purposes rather than building a factory on it.
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Expert tip


It is important that candidates fully understand the difference between a want and a need, and can clearly demonstrate this understanding to the examiner.
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Expert tip


Candidates sometimes define opportunity cost as the benefit that is forgone as a result of taking a decision. But it is not the result of any random choice; it is the cost of the next best alternative forgone.
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What will be produced, how and for whom


The emphasis on choice focuses on three basic economic questions:





•  what will be produced



•  how it will be produced



•  for whom it will be produced





The three basic economic problems are solved in different ways in various economies — in other words, resource allocation can be approached through different systems or mechanisms, as the next section shows.
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Expert tip


Candidates should emphasise the importance of needing to make a choice as a result of the condition of scarcity. Although choice can apply to various areas of economic activity, these three economic questions are the most fundamental ones.
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Now test yourself





1  Define what is meant by the ‘economic problem’.



2  Explain what is meant by the term ‘opportunity cost’.





Answers on p. 143
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Meaning of the term ‘ceteris paribus’


Economics is one of the social sciences and there are many aspects of the subject that involve a scientific analysis. It is recognised, however, that it is not really possible to study human behaviour under laboratory conditions.


Economists do, nevertheless, put forward theories by assuming that certain other aspects of behaviour can be held constant. This enables economists to isolate a single change, assuming that all other possible influences are unchanged. This assumption of ceteris paribus, that other things are equal, means that economists can analyse one aspect of behaviour at a time. For example, in this way it has been possible to put forward economic laws of demand and supply.


These economic theories have been put forward in relation to both microeconomics and macroeconomics.
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Expert tip


Candidates should appreciate that it is virtually impossible to keep all variables constant, and this is why economists use the concept of ceteris paribus to indicate the idea of ‘everything else being held constant’. This idea can be brought into a number of answers, such as showing the relationship between changes in the price of a product and changes in the demand for that product. If ceteris paribus applies, all other possible influences, such as changes in income, can be assumed to be constant.
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Revision activity


Note down why the concept of ceteris paribus is important in economics.
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Margin and decision making at the margin


Economists, in their analysis of decision making, are often concerned with decisions that are taken at the margin — that is, the point at which the last unit of a product is produced or consumed.


There are many examples of ‘marginal decision making’ throughout this book. For example, marginal cost is the additional cost of producing one more unit of a product, and marginal utility is the extra or additional satisfaction that can be gained from the consumption of one more unit of a product.


The marginal efficiency of capital is the additional output produced by the last unit of capital investment employed in the production process.




[image: ]


Expert tip


The concept of the margin is of fundamental importance in economics and you will have opportunities to bring it into many of your answers. For example, it is important, in the study of satisfaction, to distinguish between marginal utility and total utility.
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Short run, long run and very long run


Economists distinguish between three different time periods.


The short run refers to that time period in which only certain factors of production can change. These are known as variable factors. In the short run it is not possible to change the fixed factors. For example, in the short run it may be possible to change the employment of labour, but the same equipment will need to be used.


The long run refers to that time period when the inputs of all factors of production can be changed — for example, it will be possible to vary both employees and machinery in the long run. It is not possible to define exactly how long the short run or the long run is because it will vary depending on the particular circumstances.


The very long run refers to that time period when supply conditions can change because of technical progress. In both the short run and the long run, technical progress is assumed to be held constant. In the very long run, however, technical progress can change — for example, as a result of a new invention in a particular industry — and this will have an effect on the supply conditions in that industry.


Positive and normative statements


Distinction between facts and value judgements


It is important in economics to be able to distinguish between two different types of statement. A positive statement is one which is factually correct. A normative statement, on the other hand, reflects the norms or values of the person expressing the statement — such a statement will involve a value judgement and will reflect someone’s personal opinions. Normative statements often include the words ‘should’ or ‘ought to’.
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Expert tip


Candidates should understand that economics is one of the social sciences, so positive statements play an important role in the subject. In contrast, normative statements are more subjective and are reflections of value judgements.
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Revision activity


Write out three positive statements and three normative statements.
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Factors of production


Rewards to the factors of production


There are four factors of production:





•  Land — this refers to all the natural resources that can be used in the process of production. It can include farmland, forests, lakes and rivers and all the mineral deposits of a country, such as coal or oil. The reward to land is rent.



•  Labour — this refers to all the human input into the process of production. It refers not just to the people themselves, but to their skills, training, education and qualifications. It can also be referred to as ‘human capital’ or ‘intellectual capital’. The reward to labour is wages or salaries.



•  Capital — this refers to the human-made aids that can be used in the process of production. It can refer to equipment, machinery and factories. The reward to capital is interest.



•  Enterprise — this refers to the factor that brings the other factors of production together to produce products. The reward to enterprise is profit and the aim of many businesses is profit maximisation. The individual who combines the other factors of production, and takes a risk in doing so, is an entrepreneur.
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Expert tip


Candidates often confuse the use of the term ‘capital’ as a factor of production with another use of the term to refer to money. It is important that these two meanings of the term are carefully distinguished.
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Revision activity


Choose a particular form of production, such as car production or agriculture, and identify examples of the four factors of production involved.
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Now test yourself





3  Explain the meaning of the term ‘capital’ when used as a factor of production.





Answers on p. 143
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Role of enterprise in a modern economy


The factor ‘enterprise’ plays a very important role in an economy. Entrepreneurs are crucial in organising the other factors of production. They take a risk in performing this function, and risk taking is a fundamental characteristic of an entrepreneur. The element of risk arises from the uncertainty that is a feature of any initiative an entrepreneur takes. Although there are many famous entrepreneurs in the world, who have had success in a number of different business ventures, there are many others who have failed.


Specialisation and division of labour


Specialisation refers to a process of concentration on a particular aspect of production. A car assembly line is a good example of the way in which a manufacturing process can be broken down into a sequence of specific tasks. Workers will concentrate on, or specialise in, these particular tasks, giving rise to a division of labour.


One of the first studies of this process was by the Scottish economist Adam Smith, who described in his book The Wealth of Nations (1776) how division of labour in a pin factory enabled a great deal more to be produced than if each worker tried to do everything him- or herself. The process of producing pins involved 18 specific operations. If one person did all of these, that person would be able to produce 20 pins a day. However, if division of labour was applied, it would be possible for each worker to produce 4,800 pins a day.
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Revision activity


Make a list of the main advantages and disadvantages of the division of labour.
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Resource allocation in different economic systems and issues of transition


An allocative mechanism is needed for deciding how economic goods that are scarce are produced and consumed. Free goods that are in sufficient supply to satisfy demand, such as air and sunshine, do not need an allocative mechanism.


There are three different types of allocative mechanism:





•  market economies



•  planned economies



•  mixed economies
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Expert tip


Candidates should understand that every country in the world (and there are over 200 countries) will allocate its scarce resources in different ways. This range of allocative mechanisms is so broad that economists have focused on three main types: market economies, planned economies and mixed economies.
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Market economies


In a market economy, the allocation of resources is left to the market forces of demand and supply, operating through the price mechanism. The advantages and disadvantages of the market economy are shown in Table 1.


Table 1 Advantages and disadvantages of the market economy






	Advantages of the market economy

	Disadvantages of the market economy






	•  Decisions are made by individual consumers, who act in their own self-interest, i.e. seek to maximise their utility or satisfaction when they consume a product.



	

•  Some products will be underprovided and underconsumed in a market economy; these are known as merit goods, e.g. education and healthcare.









	•  Decisions are made by individual producers, who act in their own self-interest, i.e. seek to maximise their profits.



	

•  Some products will be overprovided and overconsumed in a market economy; these are known as demerit goods, e.g. alcohol and tobacco.









	

•  The use of the price mechanism to allocate resources (referred to as ‘the invisible hand’ by the Scottish economist Adam Smith) means that there is no need for any government intervention in the allocation of resources.




	•  Some products will not be provided or consumed at all in a market economy because it would be impossible to charge a market price for them; these are known as public goods, e.g. defence and lighthouses.









Planned economies


Planned economies, also known as command economies, involve the allocation of scarce resources through government intervention with no (or very little) scope for market forces to operate. The advantages and disadvantages of planned economies are shown in Table 2.


Table 2 Advantages and disadvantages of the planned economy






	Advantages of the planned economy

	Disadvantages of the planned economy






	•  Government intervention in the allocation of resources means it can take decisions in the national interest, e.g. it can prevent the production of socially undesirable products such as drugs and pornography.



	

•  A system with such a large amount of government influence and control will tend to be bureaucratic and, as a result, may be inefficient.









	•  The government can intervene to bring about a more equitable distribution of income and wealth.



	•  The lack of competition and the lack of the profit motive mean that products are often of poor quality with consumers having little choice.









Mixed economies


A mixed economy combines elements of both market economies and planned economies — in other words, there is some degree of state ownership and state intervention, but in many areas of the economy market forces will be allowed to operate.


It could be argued that all economies today are, to some extent, mixed economies. However, there are large differences between, say, China, where the government still plays an important role in the allocation of resources, and the United States, where the government has only a limited role in the allocation of resources.
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Expert tip


Candidates need to demonstrate they understand that the degree of mixture in any economy is not static. For example, since the credit crunch began in 2007, a number of banks in many countries have either been brought under complete state ownership or been given financial assistance by government to remain in business. One bank in the UK, RBS (Royal Bank of Scotland), became 84% state owned.
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Now test yourself





4  Distinguish between a market economy, a planned economy and a mixed economy.





Answer on p. 143
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Issues of transition


A number of economies are going through a period of change where the extent of central planning is being reduced and market forces are being allowed to have a greater degree of influence. China is an example of such a transitional economy. There are, however, possible problems associated with transition, as Table 3 shows.
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Revision activity


Make a list of the key features of market economies, planned economies and mixed economies.
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Table 3 Problems of transitional economies






	
Unemployment


	A planned economy is generally better able to keep down the rate of unemployment in an economy; when there is a move towards greater reliance on market forces, the rate of unemployment in an economy is likely to increase because in a market economy, firms aim to maximise profits and this may lead them to reduce costs of production, possibly by laying off some workers.






	Inflation

	In a planned economy, the state controls prices so it is easier to keep down the rate of inflation; when prices are determined by the free-market forces of demand and supply, it is more difficult to control prices and so inflation is more likely.






	Output

	In a planned economy, it is possible for the state to support inefficient firms and industries; when state support is ended, such firms and industries may not be able to compete and so output could fall.






	Welfare

	A planned economy is able to provide housing and healthcare to everyone; with the introduction of market forces, there may be a fall in welfare provision and this may have a detrimental effect on levels of productivity in the economy.
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Expert tip


Candidates should recognise that transitional economies can vary a great deal, depending on the degree of change or transition that has taken place. Some of these economies will still be similar to a planned economy, with only a small degree of private sector involvement. On the other hand, other economies will have moved away from a planned economy towards more of a market economy. It should also be understood that such economies are changing rapidly, and a great deal of change can have taken place in a short period of time.
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Now test yourself





5  Analyse what is meant by a transitional economy.





Answer on p. 143
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Production possibility curves


Shape and shifts of the curve


A production possibility curve (or production possibility frontier, as it is sometimes called) shows the different combinations of products that can be produced if the economy is working at full capacity. It can also be referred to as a ‘production transformation curve’.


The shape of the curve shows that there are a number of different combinations of products that can be produced. It is drawn as a curve rather than as a straight line because not all factors of production are equally efficient. This can be seen in Figure 1.
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The production possibility curve (PPC) in Figure 1 shows the combination of capital goods (shown on the vertical axis) and consumer goods (shown on the horizontal axis) that an economy can produce in a particular period of time with the existing economic resources available. Point A shows one possible combination of outputs, where the economy produces K1 capital goods and C1 consumer goods. Any movement along the curve from point A shows that the production of more of one type of good leads to the production of less of the other (thus illustrating the concept of opportunity cost).


Point C, which is inside the PPC, shows that the economy is not using its resources efficiently and there is some level of unemployment of resources. Output of both capital and consumer goods is lower than it could be.


Point B, which is outside the PPC, is unreachable at the present time given the resources that the economy currently has. However, over a period of time it is possible for there to be economic growth resulting from the availability of more resources and/or the more productive use of resources, and this would enable point B to be reached. This can be seen in Figure 2.
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Economic growth enables an economy to produce more of both capital and consumer goods. It refers to a situation where there is an expansion in the productive capacity or potential output of an economy. This is shown in Figure 2 by a rightward shift of the PPC from PPC1 to PPC2.
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Expert tip


It is important that candidates understand the difference between a movement along, and a shift of, a production possibility curve. A movement along a curve indicates the different combinations of two goods that could be produced from the given resources in an economy. A shift of a curve to the right, however, would indicate an expansion in the productive potential or capacity of an economy, allowing more of both goods to be produced.
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Now test yourself





6  Explain what is shown on a production possibility curve.





Answer on p. 143
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Constant and increasing opportunity costs


It has already been pointed out that a production possibility frontier is drawn as a curve, rather than as a straight line, because not all factors of production are equally efficient. It is therefore necessary to distinguish between constant and increasing opportunity costs. If it were possible to move from one point on the production possibility curve to another, with an equal sacrifice of resources, then this would indicate a situation of constant opportunity costs.


However, there will come a time when this is not the case. This is because of the existence of increasing opportunity costs, which mean that an ever-increasing amount of one product will need to be sacrificed to produce more of the other product. The reason is that different factors of production have different qualities. As a result of this, the production possibility frontier changes shape slightly as it approaches each axis. For example, in Figure 1, this is most clearly seen as the PPC gets closer to the horizontal axis, showing the consumer goods produced per period of time.



Production in primary, secondary and tertiary sectors



Production in an economy can take place in three sectors: the primary sector, the secondary sector and the tertiary sector.





•  The primary sector is the extractive sector and is concerned with production in areas of an economy such as fishing, forestry and mining.



•  The secondary sector is the manufacturing and construction sector and is concerned with production in areas of an economy such as car production and the construction of airport runways.



•  The tertiary sector is the services sector and is concerned with areas of economic activity such as teaching, medicine and the law.
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Now test yourself





7  Distinguish, with the aid of examples, between the primary, secondary and tertiary sectors of production.





Answer on p. 143
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Revision activity


Research your own economy and make a list of the main primary, secondary and tertiary industries located in your country.
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Money


Barter, cash, bank deposits, cheques, near money and liquidity


Before the development of money, barter was used. This involves the direct exchange of goods and services without the use of any form of money.


Barter, however, had a number of disadvantages:





•  It needed a double coincidence of wants — that is, each person needed what the other person was offering.



•  It was often very difficult to compare the value of different products.



•  Some of the products would be indivisible, such as animals.



•  Some products might be difficult to store during the time that a seller was looking for a buyer.





For these reasons, money came to replace barter. Money is defined as anything which is generally acceptable as a means of payment in an economy. Near money refers to an asset that can be immediately changed into money and can be used to settle some, but not all, debts. It can therefore perform some of the functions of money, but not all of them; it would be difficult for near money to perform the function of medium of exchange (see the next section).


Liquidity is defined in relation to how easy it is to turn a financial asset into cash, with cash itself being 100% liquid. In a modern economy, some deposits are still in the form of cash, but many deposits are in the form of bank deposits. In this case, the money is mainly in an electronic form.


A cheque can be used as a means of payment, but it is not the same as money because a cheque is not always acceptable.


The reward for parting with liquidity is interest. If a person deposits cash in a savings account, which they can no longer use for a period of time, their reward is an additional sum of money that they receive in the future together with the amount of money originally deposited.



Functions of money in a modern economy



Money is said to have four functions:





•  a medium of exchange



•  a unit of account or measure of value



•  a store of value or wealth



•  a standard of deferred payment





A medium of exchange


One function of money is that it operates as a medium of exchange. It works much more effectively than barter, in that money is generally acceptable as a means of payment for goods and services. This is the main reason why money is usually preferred to barter — there is no need to establish a double coincidence of wants between two people.


A unit of account


A second function of money is that it operates as a unit of account or as a measure of value. Money enables the value of different products to be compared. This is another distinct advantage of money over barter.


A store of value or wealth


A third function of money is that it operates as a store of value or wealth. Wealth can be stored as money and this is much more convenient than storing items that might have been used in a barter system, such as cattle. Of course, one problem with this particular function of money is that inflation will reduce its purchasing power and therefore its value.


A standard of deferred payment


The fourth function of money, as a standard of deferred payment, enables people to borrow money and pay it back at a later date. This encourages credit and can act as an incentive to trade. Payment can be spread over a period of time — something that was not possible with barter.




[image: ]


Expert tip


Candidates should understand that the great advantage of money over barter is that it avoids the need for a ‘double coincidence of wants’. This does not mean, however, that barter has completely disappeared. In many economies, barter still exists.
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Now test yourself





8  Identify the four functions of money.





Answer on p. 143
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Revision activity


Make a list of the various reasons why money is to be preferred to barter.


[image: ]





Characteristics of money in a modern economy


Table 4 summarises the main characteristics of money.


Table 4 The main characteristics of money






	Acceptability

	Money needs to be generally acceptable in a society if it is going to be used as a means of buying and selling goods and services.






	Portability

	Money needs to be easily carried around if it is going to perform its functions effectively.






	Scarcity

	Unless money is relatively scarce, it will become worthless.






	Recognisability

	Money needs to be easily recognised; this will help to establish it and maintain people’s confidence in it.






	Stability of value

	Money needs to be reasonably stable in value over a given period of time if people are going to have confidence in it, although inflation can negatively affect this characteristic.






	Divisibility

	It must be possible to divide money into smaller parts, or denominations, if it is going to be able to carry out its functions.






	Durability

	Money needs to be durable, i.e. relatively hard-wearing, over time.
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Expert tip


Don’t confuse the functions of money with the characteristics of money.
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Revision activity


Consider the various characteristics of money and decide which is the most important.
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Classification of goods and services



Free goods, private goods and public goods



Free goods


A free good is one which is consumed by people without a situation of scarcity arising — in other words, there is enough of the good to satisfy everybody. As the good is not scarce, it does not require a market. The supply of the good equals the demand for it at zero price. Examples of free goods are air and sunshine.


Private goods


A private good (or economic good) is one which is consumed by an individual for their own private benefit. This applies to most products in an economy. The key feature of a private good is that there is rivalry in consumption — that is, once a product has been consumed by one person, it cannot be consumed by another because other people are excluded from consumption. There is rivalry in such a situation because different consumers are in competition with other consumers to consume the particular product. Examples include food and clothing.


Public goods


In contrast to private goods, public goods are provided by society as a whole so that everyone can benefit from them. No one is excluded from benefiting from such products and consumption by one person does not prevent others from consuming them. Examples include street lighting, defence and the police.


These products need to be provided by the state or the public sector because if they were provided in the private sector, it would be impossible to exclude someone who had not paid. This gives rise to the free rider problem. For example, it would not be possible to provide street lighting through the private sector because it would be impossible to prevent someone who had not paid from benefiting from the service. When such products are provided by the public sector, they are part of government expenditure and are financed out of taxation.


In addition to being non-rival and non-excludable, public goods are also non-rejectable. This means that, even if a person does not want to be protected by their country’s defence and police system, they are not actually able to reject it.
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Expert tip


It is important that candidates can clearly distinguish between private goods and public goods in their examination answers on this topic. The key characteristic of a private good is that it involves rivalry — that is, it is possible to exclude people from the consumption of such a good.
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Expert tip


Whereas a key feature of a private good is that it involves rivalry and excludability, candidates need to emphasise in their answers that a key feature of a public good is that it is non-rival, as its consumption by one person does not prevent its consumption by someone else, and non-excludable, as it is not possible to exclude people from its consumption.
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Now test yourself





9  Distinguish between a private good and a public good.





Answer on p. 143
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Revision activity


Find out which public goods exist in your country.
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Merit goods and demerit goods



Merit goods


A merit good is a particular type of private good. Like other private goods, merit goods are both rival and excludable, but what distinguishes a merit good is the fact that it is likely to be underproduced and underconsumed if provided through the private sector. This could be regarded as a market imperfection.


A merit good such as education or healthcare has intrinsic benefits for an individual, but it also has external benefits for the wider society. Consequently, the social benefit from consumption exceeds the private benefit.


The problem is that there is information failure — the allocation of resources is sub-optimal because people lack full information. For example, people don’t fully appreciate the value of a good education or good health. Without government intervention, it is likely that merit goods such as these would be underproduced and underconsumed. They are therefore provided through the public sector, alongside private sector provision, so that those who would not or could not afford to consume them in the private sector will do so in the public sector.
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Expert tip


Candidates sometimes get confused and describe merit goods as examples of public goods. They are not examples of public goods, but of private goods. Like all private goods, they are rivalrous and excludable.


Candidates also sometimes confuse a merit good with a free good, especially given that some merit goods are free at the point of consumption, such as entry to a particular lesson. A free good, however, is something completely different; this is where there is so much of a product that demand can be satisfied without the need for an allocative mechanism, and supply will equal demand at zero price (e.g. air).
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Expert tip


It is important that candidates indicate clearly how a demerit good is fundamentally different from a merit good. Whereas a merit good is likely to be underproduced and underconsumed, a demerit good is likely to be overproduced and overconsumed in a free market. This is a concern to society because of the harmful side-effects of demerit goods.
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Demerit goods


Demerit goods are the opposite of merit goods. A demerit good is socially undesirable in some way: for example, alcohol and tobacco. With demerit goods, the social costs of production and consumption outweigh the private costs.


Whereas merit goods would be underproduced and underconsumed in a free market, demerit goods would be overproduced and overconsumed in a free market. This results from imperfect information amongst consumers and is another form of market failure that may require government intervention.
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Now test yourself





10 Distinguish between a merit good and a demerit good.





Answer on p. 143
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Revision activity


Find out what actions the government of your country is taking to encourage the consumption of merit goods and to discourage the consumption of demerit goods.
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2 The price system and the micro economy



Demand curves



Effective demand


Effective demand refers to that demand which can be supported by having the means to pay. In this situation, consumers must not just want a particular product, but must also be able to afford to pay for it.


Individual and market demand curves


Demand is the quantity of a product that consumers are willing and able to buy at a given price in a given time period. An individual demand curve shows the quantity of a product that a particular consumer is willing and able to buy at each and every price, ceteris paribus (that is, with all other things unchanged). The individual demand curve will slope downwards from left to right, indicating that a consumer will be more likely to buy a product at a lower price than at a higher price. This is known as the law of demand.
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Expert tip


It is important that candidates demonstrate in their answers an understanding that demand needs to be effective demand. It is not enough that consumers want something; they have to be in a position to actually pay for it.
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Aggregation of individual demand curves to give market demand


A demand curve can be drawn for every consumer in a society for every product, but in economics it is more usual to focus on market demand curves. Market demand for a product is derived from bringing together (or aggregating) all the potential buyers of a product. It is the total quantity of a product that all potential buyers would choose to buy at a given price in a given period of time.


A demand schedule can be produced for a particular product, such as DVDs. This schedule can then be plotted to give a market demand curve, as shown in Figure 1. The price of DVDs is shown on the vertical axis and the quantity of DVDs bought is shown on the horizontal axis.
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The demand curve shows the relationship between price and the quantity demanded. It is downward sloping, indicating an inverse relationship between the price of a product and the quantity demanded of a product: that is, as the price falls, the demand rises.


Derived demand is where the demand for a component depends upon the final demand for a product that uses that component. For example, the demand for rubber is derived from the demand for car tyres. Derived demand can also be used in relation to the demand for workers — for example, the demand for bus drivers derives from people’s demand for bus transport.
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Revision activity


Produce a demand schedule for a particular product and plot this in a demand curve.
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Now test yourself





1  State the law or theory of demand.





Answer on p. 143
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Factors influencing demand


Price


A major influence on the demand for a product is its price. Figure 1 shows that there is an inverse relationship between a change in the price of a product and the quantity demanded of a product, all other things unchanged.


When it is only the price of a product that changes, the resulting change in quantity demanded can be shown on a demand curve by a movement along the curve. This can be seen in Figure 2.


When the price of a product is reduced, for example, from P0 to P1, the quantity demanded goes up from Q0 to Q1. This is represented by a downward movement along the demand curve, indicated in the diagram by the downwards arrow. If, on the other hand, the price of a product were increased, the quantity demanded would fall and this would be shown as an upward movement along the demand curve.
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Other factors influencing demand



However, price is not the only factor that influences demand. If the ceteris paribus assumption is now removed, it is possible to consider all the other factors that were previously being held constant. These other factors could include:





•  a change in the incomes of consumers



•  a change in the price of a substitute product



•  a change in the price of a complementary product



•  an advertising campaign



•  a change in population



•  a change in the tastes and preferences of consumers



•  a lowering of interest rates, making borrowing more affordable
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Figure 1 A demand curve for DVDs
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